
 

 

 

 

 

 

 

 

 

 

PROGRAM 

 

#include <Wire.h> 

#include <LCD.h> 

#include <LiquidCrystal_I2C.h> 

 

#define I2C_ADDR    0x27 // <<----- Add your address here.  Find it from I2C Scanner 

#define BACKLIGHT_PIN     3 

#define En_pin  2 

#define Rw_pin  1 

#define Rs_pin  0 

#define D4_pin  4 

#define D5_pin  5 

#define D6_pin  6 

#define D7_pin  7 

 

#define trigdepan 50 

#define echodepan 52 

#define trigkiri 47 

#define echokiri 49 

#define trigkanan 45 

#define echokanan 44 

#define trigserongkiri 51 

#define echoserongkiri 53 

#define trigserongkanan 46 

#define echoserongkanan 48 

#define pwmkiri 8 

#define arahkiri1 43 

#define arahkiri2 39 

#define pwmkanan 6 

#define arahkanan1 41 

#define arahkanan2 38 

#define apidepan 35 

#define apiskiri 33 

#define apiskanan 37 

 

double jarak_depan; 

double jarak_kiri; 

double jarak_kanan; 

double jarak_skiri; 

double jarak_skanan; 

 

LiquidCrystal_I2C lcd(I2C_ADDR, En_pin, Rw_pin, Rs_pin, D4_pin, D5_pin, D6_pin, D7_pin); 

 

int pwm_spelan = 0; 

int pwm_pelan  = 40; 

 

 

 

 

 



 

 

 

 

 

 

 

 

int pwm_sedang = 65; 

int pwm_cepat  = 80; 

int pwm_scepat = 100; 

int kondisi[2] ; 

double kecepatanKiri = 0; 

double kecepatanKanan = 0; 

double dkdekat ; 

double dkmendekat ; 

double dktepat ; 

double dkmenjauh ; 

double dkjauh ; 

double s_dkdekat ; 

double s_dkmendekat ; 

double s_dktepat ; 

double s_dkmenjauh ; 

double s_dkjauh ; 

double jarak1; 

double jarak2; 

double wz_kiri, wz_kanan , w; 

 

int vkiri; 

int vkanan; 

 

bool arah ; //1= kanan,0 = kiri 

 

void setup() { 

  Serial.begin(9600); 

  // put your setup code here, to run once: 

  pinMode (trigdepan, OUTPUT); 

  pinMode (echodepan, INPUT); 

  pinMode (trigkiri, OUTPUT); 

  pinMode (echokiri, INPUT); 

  pinMode (trigkanan, OUTPUT); 

  pinMode (echokanan, INPUT); 

  pinMode (trigserongkiri, OUTPUT); 

  pinMode (echoserongkiri, INPUT); 

  pinMode (trigserongkanan, OUTPUT); 

  pinMode (echoserongkanan, INPUT); 

 

  pinMode(pwmkiri, OUTPUT); 

  pinMode(arahkiri1, OUTPUT); 

  pinMode(arahkiri2, OUTPUT); 

  pinMode(pwmkanan, OUTPUT); 

  pinMode(arahkanan1, OUTPUT); 

  pinMode(arahkanan2, OUTPUT); 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

  pinMode (apidepan, INPUT_PULLUP); 

  pinMode (apiskiri, INPUT_PULLUP); 

  pinMode (apiskanan, INPUT_PULLUP); 

  lcd.begin (16, 2); //  <<----- My LCD was 16x2 

 

  // Switch on the backlight 

  lcd.setBacklightPin(BACKLIGHT_PIN, POSITIVE); 

  lcd.setBacklight(HIGH); 

  lcd.home (); // go home 

 

  lcd.print("Hello TELKOM"); 

 

} 

long millis_mulai; 

void loop() { 

  millis_mulai = millis(); 

  lcd.clear(); 

  // put your main code here, to run repeatedly: 

  // lcd.clear(); 

  //lcd.home(); 

  hitdepan (); 

  hitkiri (); 

  hitkanan (); 

  hitserongkiri (); 

  hitserongkanan (); 

   

  if (digitalRead(apidepan) == 0 || digitalRead(apiskanan) == 0 || digitalRead(apiskiri) == 0) { 

    berhenti(0,0); 

  } else { 

    if (jarak_kiri < jarak_kanan) { 

     arah = 0; 

     fungsi_keanggotaan(jarak_kiri, jarak_skiri); 

   } else { 

     arah = 1;  

     fungsi_keanggotaan(jarak_kanan, jarak_skanan);  

    } 

     

    rule_base(); 

    Serial.print("kecepatan kiri = "); 

    Serial.println(kecepatanKiri); 

    Serial.print("kecepatan kanan = "); 

    Serial.println(kecepatanKanan); 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

    if (arah == 0) { 

      maju((int)kecepatanKanan , (int)kecepatanKiri ); 

    } else { 

      maju((int)kecepatanKiri, (int)kecepatanKanan ); 

    }     

      

    if (jarak_depan < 30 ) { 

      Serial.print("jarak d epan =  "); 

      Serial.println(jarak_depan); 

      if (jarak_kanan < jarak_kiri) { 

      Serial.print("jarak kanan =  "); 

      Serial.println(jarak_kanan); 

      kiri ( 0,80 ); 

      }else  { 

      Serial.print("jarak kiri =  "); 

      Serial.println(jarak_kiri); 

      kanan (100, 0); 

      } 

    } 

 

  } 

} 

 

void fungsi_keanggotaan(int jarak1, int jarak2) { 

  dkdekat = derajat_keanggotaan_dekat(jarak1); 

  //  Serial.print("dkdekat="); 

  // Serial.println(dkdekat); 

  dkmendekat = derajat_keanggotaan_mendekat(jarak1); 

  //  Serial.print("dkmendekat="); 

  //  Serial.println(dkmendekat); 

  dktepat = derajat_keanggotaan_tepat(jarak1); 

  //  Serial.print("dktepat="); 

  //  Serial.println(dktepat); 

  dkmenjauh = derajat_keanggotaan_menjauh(jarak1); 

  //  Serial.print("dkmenjauh="); 

  //  Serial.println(dkmenjauh); 

  dkjauh = derajat_keanggotaan_jauh(jarak1); 

  //  Serial.print("dkjauh="); 

  //  Serial.println(dkjauh); 

 

  s_dkdekat = derajat_keanggotaan_dekat(jarak2); 

  //  Serial.print("s_dkdekat="); 

  //  Serial.println(s_dkdekat); 

  s_dkmendekat = derajat_keanggotaan_mendekat(jarak2); 

  //  Serial.print("s_dkmendekat="); 

  //  Serial.println(s_dkmendekat); 

 

 

 

 



 

 

 

 

 

 

 

 

  s_dktepat = derajat_keanggotaan_tepat(jarak2); 

  //Serial.print("s_dktepat="); 

  //Serial.println(s_dktepat); 

  s_dkmenjauh = derajat_keanggotaan_menjauh(jarak2); 

  //Serial.print("s_dkmenjauh="); 

  //Serial.println(s_dkmenjauh); 

  s_dkjauh = derajat_keanggotaan_jauh(jarak2); 

  //Serial.print("s_dkjauh="); 

  //Serial.println(s_dkjauh); 

 

} 

 

void rule_base() { 

  wz_kiri = 0; 

  wz_kanan = 0; 

  w = 0; 

  kondisi [0] = 0; //kanan 

  kondisi [1] = 0; //kiri 

  //0 pelan 

  //1 sedang 

  //2 cepat 

 

  if (dkdekat > 0 && s_dkdekat > 0 ) { 

    Serial.println("dkdekat     s_dkdekat"); 

    defuzzyfikasi(dkdekat, s_dkdekat, 0, 2); 

 

  } 

  if (dkdekat > 0 && s_dkmendekat > 0 ) { 

    Serial.println("dkdekat     s_dkmendekat"); 

    defuzzyfikasi(dkdekat, s_dkmendekat, 1, 3); 

 

  } 

  if (dkdekat > 0 && s_dktepat > 0 ) { 

    Serial.println("dkdekat     s_dktepat"); 

    defuzzyfikasi(dkdekat, s_dktepat, 1, 2); 

 

  } 

  if (dkdekat > 0 && s_dkmenjauh > 0 ) { 

    Serial.println("dkdekat     s_dkmenjauh"); 

    defuzzyfikasi(dkdekat, s_dkmenjauh, 1, 2); 

 

  } 

  if (dkdekat > 0 && s_dkjauh > 0 ) { 

    Serial.println("dkdekat     s_dkjauh"); 

    defuzzyfikasi(dkdekat, s_dkjauh, 2, 2); 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

  } 

  if (dkmendekat > 0 && s_dkdekat > 0 ) { 

    Serial.println("dkmendekat     s_dkdekat"); 

    defuzzyfikasi(dkmendekat, s_dkdekat, 0, 2); 

 

  } 

  if (dkmendekat > 0 && s_dkmendekat > 0 ) { 

    Serial.println("dkmendekat     s_dkmendekat"); 

    defuzzyfikasi(dkmendekat, s_dkmendekat, 1, 3); 

 

  } 

  if (dkmendekat > 0 && s_dktepat > 0 ) { 

    Serial.println("dkmendekat     s_dktepat"); 

    defuzzyfikasi(dkmendekat, s_dktepat, 2, 3); 

 

  } 

  if (dkmendekat > 0 && s_dkmenjauh > 0 ) { 

    Serial.println("dkmendekat     s_dkmenjauh"); 

    defuzzyfikasi(dkmendekat, s_dkmenjauh, 2, 2); 

 

  } 

  if (dkmendekat > 0 && s_dkjauh > 0 ) { 

    Serial.println("dkmendekat     s_dkjauh"); 

    defuzzyfikasi(dkmendekat, s_dkjauh, 2, 2); 

 

 

  } 

  if (dktepat > 0 && s_dkdekat > 0 ) { 

    Serial.println("dktepat     s_dkdekat"); 

    defuzzyfikasi(dktepat, s_dkdekat, 0, 2); 

 

  } 

  if (dktepat > 0 && s_dkmendekat > 0 ) { 

    Serial.println("dktepat    s_dkmendekat"); 

    defuzzyfikasi(dktepat, s_dkmendekat, 2, 3); 

 

  } 

  if (dktepat > 0 && s_dktepat > 0 ) { 

    Serial.println("dktepat    s_dktepat"); 

    defuzzyfikasi(dktepat, s_dktepat, 1, 3); 

 

  } 

  if (dktepat > 0 && s_dkmenjauh > 0 ) { 

    Serial.println("dktepat    s_dkmenjauh"); 

    defuzzyfikasi(dktepat, s_dkmenjauh, 2, 2); 

 

 

 

 

 

 



 

 

 

 

 

 

 

  } 

  if (dktepat > 0 && s_dkjauh > 0 ) { 

    Serial.println("dktepat    s_dkjauh"); 

    defuzzyfikasi(dktepat, s_dkjauh, 2, 2); 

 

 

  } 

  if (dkmenjauh > 0 && s_dkdekat > 0 ) { 

    Serial.println("dkmenjauh     s_dkdekat"); 

    defuzzyfikasi(dkmenjauh, s_dkdekat, 0, 3); 

 

  } 

  if (dkmenjauh > 0 && s_dkmendekat > 0 ) { 

    Serial.println("dkmenjauh     s_dkmendekat"); 

    defuzzyfikasi(dkmenjauh, s_dkmendekat, 0, 3); 

 

  } 

  if (dkmenjauh > 0 && s_dktepat > 0 ) { 

    Serial.println("dkmenjauh     s_dktepat"); 

    defuzzyfikasi(dkmenjauh, s_dktepat, 1, 3); 

 

  } 

  if (dkmenjauh > 0 && s_dkmenjauh > 0 ) { 

    Serial.println("dkmenjauh     s_dkmenjauh"); 

    defuzzyfikasi(dkmenjauh, s_dkmenjauh, 2, 1); 

  } 

  if (dkmenjauh > 0 && s_dkjauh > 0 ) { 

    Serial.println("dkmenjauh     s_dkjauh"); 

    defuzzyfikasi(dkmenjauh, s_dkjauh, 3, 2); 

 

 

  } 

  if (dkjauh > 0 && s_dkdekat > 0 ) { 

    Serial.println("dkjauh     s_dkdekat"); 

    defuzzyfikasi(dkjauh, s_dkdekat, 0, 3); 

 

  } 

  if (dkjauh > 0 && s_dkmendekat > 0 ) { 

    Serial.println("dkjauh     s_dkmendekat"); 

    defuzzyfikasi(dkjauh, s_dkmendekat, 1, 2); 

 

  } 

  if (dkjauh > 0 && s_dktepat > 0 ) { 

    Serial.println("dkjauh     s_dktepat"); 

    defuzzyfikasi(dkjauh, s_dktepat, 1, 2); 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

  } 

  if (dkjauh > 0 && s_dkmenjauh > 0 ) { 

    Serial.println("dkjauh     s_dkmenjauh"); 

    defuzzyfikasi(dkjauh, s_dkmenjauh, 2, 1); 

 

  } 

  if (dkjauh > 0 && s_dkjauh > 0 ) { 

    Serial.println("dkjauh     s_dkjauh"); 

    defuzzyfikasi(dkjauh, s_dkjauh, 3, 1); 

 

  } 

 

  kecepatanKanan = wz_kanan / w; 

  kecepatanKiri = wz_kiri / w; 

 

} 

 

 

void defuzzyfikasi(double dk1, double dk2, int vkiri, int vkanan) { 

  double dk_terendah = 1; 

  if (dk1 < dk_terendah) dk_terendah = dk1; 

  if (dk2 < dk_terendah) dk_terendah = dk2; 

 

  /* 

   * 

    int pwm_pelan = 10; 

    int pwm_Sedang =  20; 

    int pwm_cepat = 30 ; 

 

 

   */ 

 

  //Serial.print("dk tinggi"); 

  //Serial.println(dk_terendah); 

 

  int pengali_kanan, pengali_kiri; 

  if (vkiri == 0) { 

    pengali_kiri = pwm_spelan; 

  } else if (vkiri == 1) { 

    pengali_kiri = pwm_pelan; 

  } else if (vkiri == 2) { 

    pengali_kiri = pwm_sedang; 

  } else if (vkiri == 3) { 

    pengali_kiri = pwm_cepat; 

  } else if (vkiri == 4) { 

    pengali_kiri = pwm_scepat; 

 

 

 

 

 



 

 

 

 

 

 

 

  } 

  if (vkanan == 0) { 

    pengali_kanan = pwm_spelan; 

  } else if (vkanan == 1) { 

    pengali_kanan = pwm_pelan; 

  } else if (vkanan == 2) { 

    pengali_kanan = pwm_sedang; 

  } else if (vkanan == 3) { 

    pengali_kanan = pwm_cepat; 

  } else if (vkanan == 4) { 

    pengali_kanan = pwm_scepat; 

  } 

 

  wz_kanan += dk_terendah * pengali_kanan; 

  wz_kiri += dk_terendah * pengali_kiri; 

  w += dk_terendah; 

  //kecepatanKanan = dk_terendah * pengali_kanan; 

  //kecepatanKiri = dk_terendah * pengali_kiri; 

} 

 

double derajat_keanggotaan_dekat(double jarak) { 

  double dk_dekat = 0; 

  if (jarak <= 15) { 

    dk_dekat = 1; 

  } else if (jarak <= 20) { 

    dk_dekat = (20 - jarak) / (20 - 15); 

  } else { 

    dk_dekat = 0; 

  } 

  //Serial.print("dkdekat="); 

  //Serial.println(dk_dekat); 

  return dk_dekat; 

} 

 

double derajat_keanggotaan_mendekat(double jarak) { 

  double dk_mendekat = 0; 

  if (jarak <= 15) { 

    dk_mendekat = 0; 

  } else if (jarak <= 20) { 

    dk_mendekat = (jarak - 15 ) / (20 - 15); 

  } else if (jarak <= 25) { 

    dk_mendekat = (25 - jarak) / (25 - 20); 

  } else { 

    dk_mendekat = 0; 

  } 

  //Serial.print("dkmendekat="); 

  //Serial.println(dk_mendekat); 

  return dk_mendekat; 

} 

 

 

 



 

 

 

 

 

 

 

 

double derajat_keanggotaan_tepat(double jarak) { 

  double dk_tepat = 0; 

  if (jarak <= 20) { 

    dk_tepat = 0; 

  } else if (jarak <= 25) { 

    dk_tepat = (jarak - 20) / (25 - 20); 

  } else if (jarak <= 30) { 

    dk_tepat = (30 - jarak) / (30 - 25); 

  } else { 

    dk_tepat = 0; 

  } 

  //Serial.print("dktepat="); 

  //Serial.println(dk_tepat); 

  return dk_tepat; 

} 

 

double derajat_keanggotaan_menjauh(double jarak) { 

  double dk_menjauh = 0; 

  if (jarak <= 25) { 

    dk_menjauh = 0; 

  } else if (jarak <= 30) { 

    dk_menjauh = (jarak - 25) / (30 - 25); 

  } else if (jarak <= 35) { 

    dk_menjauh = (35 - jarak) / (35 - 30); 

  } else { 

    dk_menjauh = 0; 

  } 

  //Serial.print("dkmenjauh="); 

  //Serial.println(dk_menjauh); 

  return dk_menjauh; 

} 

double derajat_keanggotaan_jauh(double jarak) { 

  double dk_jauh = 0; 

  if (jarak <= 30) { 

    dk_jauh = 0; 

  } else if (jarak <= 35) { 

    dk_jauh = (jarak - 30) / (35 - 30); 

  } else { 

    dk_jauh = 1; 

  } 

  //Serial.print("dkjauh="); 

  //Serial.println(dk_jauh); 

  return dk_jauh; 

} 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

void hitdepan () { 

  // put your main code here, to run repeatedly: 

  digitalWrite (trigdepan, HIGH); 

  delay (2); 

  digitalWrite (trigdepan, LOW); 

  jarak_depan = pulseIn(echodepan, HIGH); 

  //lcd.print("jarak depan="); 

  //lcd.print (jarakdepan); 

  //lcd.print (" "); 

  jarak_depan = jarak_depan / 58; 

  //lcd.print("jarak depan="); 

  lcd.setCursor (11, 0);       // go to start of 2nd line 

  lcd.print ((int)jarak_depan); 

  lcd.print(" "); 

} 

void hitkiri () { 

  digitalWrite (trigkiri, HIGH); 

  delay (2); 

  digitalWrite (trigkiri, LOW); 

  jarak_kiri = pulseIn(echokiri, HIGH); 

  //lcd.print("jarak kiri="); 

  //lcd.print (jarakkiri); 

  //lcd.print (" "); 

  jarak_kiri = jarak_kiri / 58; 

  //lcd.print("jarak kiri="); 

  lcd.setCursor (5, 0);       // go to start of 2nd line 

  lcd.print ((int)jarak_kiri); 

  lcd.print(" "); 

} 

void hitkanan () { 

  digitalWrite (trigkanan, HIGH); 

  delay (2); 

  digitalWrite (trigkanan, LOW); 

  jarak_kanan = pulseIn(echokanan, HIGH); 

  //lcd.print("jarak kanan="); 

  //lcd.print (jarak_kanan); 

  //lcd.print (" "); 

  jarak_kanan = jarak_kanan / 58; 

  //lcd.print("jarak kanan="); 

  lcd.setCursor (0, 0);       // go to start of 2nd line 

  lcd.print((int)jarak_kanan); 

  lcd.print(" "); 

} 

void hitserongkiri () { 

  digitalWrite (trigserongkiri, HIGH); 

  delay (2); 

  digitalWrite (trigserongkiri, LOW); 

 

 

 

 

 



 

 

 

 

 

 

 

  jarak_skiri = pulseIn(echoserongkiri, HIGH); 

  //lcd.print("jarak serong kiri="); 

  //lcd.print (jarak_skiri); 

  //lcd.print(" "); 

  jarak_skiri = jarak_skiri / 58; 

  //lcd.print("jarak serong kiri="); 

  lcd.setCursor (0, 1);       // go to start of 2nd line 

  lcd.print ((int)jarak_skiri); 

  lcd.print(" "); 

} 

void hitserongkanan () { 

  digitalWrite (trigserongkanan, HIGH); 

  delay (2); 

  digitalWrite (trigserongkanan, LOW); 

  jarak_skanan = pulseIn(echoserongkanan, HIGH); 

  //lcd.print("jarak serong kanan="); 

  //lcd.print (jarak_skanan); 

  //lcd.print (" "); 

  jarak_skanan = jarak_skanan / 58; 

  //lcd.print("jarak serong kanan="); 

  lcd.setCursor (5, 1);       // go to start of 2nd line 

  lcd.print ((int)jarak_skanan); 

  lcd.print(" "); 

  // Backlight on/off every 3 seconds 

  //lcd.setCursor (0,1);        // go to start of 2nd line 

  //lcd.println(n++,DEC); 

} 

 

 

void hitung_jarak_total() { 

  digitalWrite (trigdepan, HIGH); 

  digitalWrite (trigkiri, HIGH); 

  digitalWrite (trigkanan, HIGH); 

  digitalWrite (trigserongkiri, HIGH); 

  digitalWrite (trigserongkanan, HIGH); 

  delay (2); 

  digitalWrite (trigdepan, LOW); 

  digitalWrite (trigkiri, LOW); 

  digitalWrite (trigkanan, LOW); 

  digitalWrite (trigserongkiri, LOW); 

  digitalWrite (trigserongkanan, LOW); 

  jarak_depan = 0; 

  jarak_kiri = 0; 

  jarak_kanan = 0; 

  jarak_skiri = 0; 

  jarak_skanan = 0; 

 

 

 

 

 

 



 

 

 

 

 

 

 

  //delay(10); 

  long waktu_mulai = millis(); 

  while (millis() - waktu_mulai < 100 ) { 

    if (digitalRead(echodepan) == 1) { 

      jarak_depan++; 

    } 

    if (digitalRead(echokiri) == 1) { 

      jarak_kiri++; 

    } 

    if (digitalRead(echokanan) == 1) { 

      jarak_kanan++; 

    } 

    if (digitalRead(echoserongkiri) == 1) { 

      jarak_skiri++; 

    } 

    if (digitalRead(echoserongkanan) == 1) { 

      jarak_skanan++; 

    } 

 

    if (digitalRead(echoserongkanan) == 0 && digitalRead(echoserongkiri) == 0 && 

digitalRead(echokanan) == 0 && digitalRead(echokiri) == 0 && digitalRead(echodepan) == 0 && 

(millis() - waktu_mulai) > 20) { 

      break; 

    } 

 

  } 

 

  //  jarak_depan/=1; 

  //  jarak_kiri/=5; 

  //  jarak_kanan/=5; 

  //  jarak_skiri/=5; 

  //  jarak_skanan/=5; 

 

 

  Serial.print("jarak depan = "); 

  Serial.println(jarak_depan); 

  Serial.print("jarak kiri = "); 

  Serial.println(jarak_kiri); 

  Serial.print("jarak kanan = "); 

  Serial.println(jarak_kanan); 

  Serial.print("jarak skiri = "); 

  Serial.println(jarak_skiri); 

  Serial.print("jarak skanan = "); 

  Serial.println(jarak_skanan); 

 

} 

void maju (int v_kiri, int v_kanan) { 

  digitalWrite(arahkiri1, LOW); 

 

 

 

 



 

 

 

 

 

 

 

  digitalWrite(arahkiri2, HIGH); 

  analogWrite(pwmkiri, v_kiri); 

  digitalWrite(arahkanan1, LOW); 

  digitalWrite(arahkanan2, HIGH); 

  analogWrite(pwmkanan, v_kanan); 

} 

void kiri(int v_kiri, int v_kanan) { 

  digitalWrite(arahkiri1, HIGH); 

  digitalWrite(arahkiri2, LOW); 

  analogWrite(pwmkiri, v_kiri); 

  digitalWrite(arahkanan1, LOW); 

  digitalWrite(arahkanan2, HIGH); 

  analogWrite(pwmkanan, v_kanan); 

 

} 

void kanan(int v_kiri, int v_kanan) { 

  digitalWrite(arahkiri1, LOW); 

  digitalWrite(arahkiri2, HIGH); 

  analogWrite(pwmkiri, v_kiri); 

  digitalWrite(arahkanan1, HIGH ); 

  digitalWrite(arahkanan2, LOW ); 

  analogWrite(pwmkanan, v_kanan); 

} 

void mundur (int v_kiri, int v_kanan) { 

  digitalWrite(arahkiri1, HIGH); 

  digitalWrite(arahkiri2, LOW); 

  analogWrite(pwmkiri, v_kiri); 

  digitalWrite(arahkanan1, HIGH); 

  digitalWrite(arahkanan2, LOW); 

  analogWrite(pwmkanan, v_kanan); 

 

} 

void berhenti (int v_kiri, int v_kanan) { 

  digitalWrite(arahkiri1, LOW); 

  digitalWrite(arahkiri2, LOW); 

  analogWrite(pwmkiri, 0); 

  digitalWrite(arahkanan1, LOW); 

  digitalWrite(arahkanan2, LOW); 

  analogWrite(pwmkanan, 0); 

} 

























 



 


